EANRAROBREIEHRT — 2 N—XBISYH —F 201789870 (k) 12EEME2A

m A2 ¥5%R3m®L ESRE
[xE£] 1 %:1,200,000 3 ~ 237%&:288,000 @  37&:144,000  ~ 437 :96,000H 5% :72,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R Frhes .08 7.3 9| — A (F)
1:E IA( > TrA4Y— # 5 56.0_7_ 1(2_8)7 7-7-3-2 | 38.9 1 (4_15132) el
L:¥r/saoq4 BIAY T4—T1 WE A
i 44 | AKX 1:28.9 8-8-6-3 |38.8| — 3 491 | #iEX (EE)
oM 6|/7E1H> 56.0 (1 1/4) (-3) | FHEf

L:F 1 —TAHA B:aA92-<547 AR

_ TRE : 91— - M (Em)
3 g|FTFazl— 380 1('12?2')0 Fe 1395 ? ‘g? TEEREA

R:d—IRknqAa— B:vyvovz—7 ke
N N K SARER :29. -9-9- . - IR (T
AL s eFy H 6 o 1(249)7 10-9-9-8 | 39.3 11 <5+211) iz%ﬁ%&ﬁ
R:F215280 B:hxIYISyT BESHD F VIS
N 4 | TIHE 1:30. -6-8-7 | 40.1| — 4 BAEE (FH)
5011 |7T1>E7Fz—L & 56.0 (1 310/20) 668 0 6 (_518) SR
Lix1vavR—-5— BE7FENLH IRENS
S L, S £ Kfti—H 1:30.4 4-4-6-5 | 40. = 4 4 waEE (T
6 VARZES S ZAV S “ % &0 (2310/2) 65 408 (+830) FINES
:ZA4FxFT v ML BV FAH N =kve ]
I # 5 | KILEE 1:30.6 5-5-5-5 | 40.9 | — 5 495 | RFIRR (EH)
71719 ¥xTvV N 56.0 ) 1) |HET
v TVRry b BivyXx—"g+—7 EHH =88
o= s . ARER :30. -9-11- . - RIRKX (BR)
855 AIXETTL 2 H 8 e 1(/73(1):53 9-9-11-11 | 40.0 9 fss) b
v TRy b BIUANRTRTA 2 HEEEKS
s 4 | REBE 1:31. 1-1-1-4 | 41. — 7 A masME (EE)
9811 Iqf>>xOFb # 5%.0 (231/20) 6 <+626) IMBFER
L:viNnNyBgLHhTr BI-2 2 TAL—K FERS
5 3 K 1:31. 11-11-10-10| 40.2 | — 1 4 | BRER3L (EME)
N BRI Hs | AHE 1.0 0-10| 0 o | s | EEAs
L:d—WRTPYa— BTV EAYL IR 7 7 — L
. HREE :31. -3-4- . - R R5A (EM)
11l8l10| TV Y bAoA 4 5 on 1(341)7 3-3-4-9 | 42.2 8 <5+311) hs
L:xA1=gy—X B:oF7 MLty b J=HrTr—L

@ 11— —@EBIRfL

| 2=zr= 11,8,10,7,9,1,3,6,5,4,2

2 =7r= 11,8,10,7,9,1,3,6, (4,5) ,2

Ja=zr= (8,11),3,10,9, (6,7) ,1,4,2,5

43 —F— 8,3,6,11,(7,9),1,4,10,2,5

o LRE

BB 3 220 | | 71 K 3-6 250M 3 3-6 360H 3HER 3-6-8 530

7 B 3 100H 3-8 110/ 5= 3-6 670M 3EE 3-6-8 2,100
6 140 6-8 400M 5B 3-6 980M
8 120

ABICOVWTRDTEEERROODE. TR LIV,



